
Nr7   4#16  l=4502

23
58

15
4°

A A

A'' A''

322

84
2

70

70

542

39
2

Nr4   30#8   l=2008

9 
x 

12
0 

= 
10

80
18

 x
 1

20
 =

 2
16

0
15

 x
 2

35
 =

 3
52

5
2 

x 
23

5 
= 

47
0

9 
x 

23
5 

=2
11

5
11

 x
 1

20
 =

 1
32

0
50

12
0

160

542 322

70

70

47
8

47
8

70

Nr5   13#8   l=1320

Nr6   26#8   l=2062

Nr 21

Nr8   4#16  l=4610

20
00

2250

R200 10
8°

2000

10
8°R200

9 
x 

12
0 

= 
10

80
15

 x
 2

35
 =

 3
52

5
7 

x1
20

 =
 8

40
55

9 
x1

20
 =

 1
08

0

12
 x

 2
35

 =
 2

82
0

5 
x 

12
0 

= 
60

0

N
r9

   
4#

25
  l

=6
39

0

N
r1

0 
  4

#2
5 

 l=
65

10

15
4°

Nr
14

   
4#

20
  l

=6
58

5

B B

N
r1

1 
  2

#2
0 

 l=
64

70

15
4°

P
rę

ty
 d

op
as

ow
ać

 n
a 

bu
do

w
ie

N
r1

2 
  2

#1
2 

 l=
64

70

15
4°

P
rę

ty
 d

op
as

ow
ać

 n
a 

bu
do

w
ie

B'

B'

Pr
ęt

y 
do

pa
so

wa
ć 

na
 b

ud
ow

ie

Pr
ęt

y 
do

pa
so

wa
ć 

na
 b

ud
ow

ie

C C

C-C
Nr 12

Nr 10Nr 11

Nr 9

C'

C'

9260

Nr 17

Nr 18

Nr 19

Nr 20

Nr 21

C'-C'

D-D

D D

D' D'

D'-D'
Nr 22

Nr 23

Nr 23

R20
0

Nr 24

Nr 25

G

G

D'' D''

C''

C''

Nr 17

Nr 18

Nr 19

Nr 20

C''-C''

2300

R20
0

Nr 26
Nr 27

Nr29   4#16  l=4670

Nr28   4#16  l=4960

22
00

2300

22
00

2300

B''

B''

R200

R200

48°

131°

9 
x 

12
0 

= 
10

80
15

 x
 2

35
 =

 3
52

5
18

 x
12

0 
= 

21
60

9 
x 

12
0 

= 
10

80
15

 x
 2

35
 =

 3
52

5
7 

x1
20

 =
 8

40
55

10 x120  = 1200

24 x 235  = 564

5 x120  = 600

22
 x

 2
35

 =
 5

17
0

21
7

5 
x1

20
 =

 6
00

11
 x

 1
20

 =
 1

32
0

40
12

0

N
r3

 i 
N

r4
N

r5
 i 

N
r6

po
 2

 x
 N

r3
0

2xNr 30

2xNr 34

2xNr 34

po
 2

 x
 N

r3
4

po
 2

 x
 N

r3
0

po 2 x Nr34

Nr 3

Nr31   30#8   l=2208

39
2

642

70

N
r3

 i 
N

r3
1

Nr 31

Nr 32

Nr 36

A' A'

N
r3

2 
i N

r3
3

N
r3

5 
i N

r3
6

160

642

70

70

47
8

Nr37   13#8   l=1420

Nr 36

Nr 32

E

E

F'

F'

I
I

H

Nr 38

12000Nr44   4#25  l=12000

5600

10000

12000

Nr 46

Nr 45

Nr 48 Nr 48

Nr51   4#16   l=9500
Pręty rozmieścić w narożnikach wieńca

3500

60
00

3500

Nr52   8#8   l=3496

1320 150
43

70 45
° 33

0

Nr53   8#8   l=7634

650 57 2810

100

40
0

Nr54   38#8   l=1490
550

40
0

70

Nr47   2#25  l=10000

Nr48   2#25  l=12000

22Nr54 co 100
naprzemiennie raz z
jednej raz z drugiej strony

16Nr54 co 100
naprzemiennie raz z
jednej raz z drugiej strony

Nr 38

Nr 23

Nr 24

Nr 37

Nr 6

D''' D'''

A''' A'''

Nr 21

Nr59   8#16   l=7000

1000

60
00

Nr 59

N
r6

 i 
N

r3
7

N
r5

 i 
N

r6

F

F

H
'

Nr 38

Nr 46

Nr 45

Nr 50

322

84
2

70

Nr32   65#8   l=2790

10
00

Nr3   60#8   l=2468

220 380
220 380

45
0

45
0

45
0

45
0

220 380

45
0

45
0 36

0
70

220 380

45
0

600 600

45
0

600

45
0

600

45
0

600

45
0

600

45
0

380 380 380

15
00 15

00

15
00

15
00

38
0

90

+7.30

+7.30

+7.30


